



Vendor Ranking

Page 1 of 1

Letting: 01210121 January 21, 2021 11:00 AM **Call Order:** 001 **Contract:** E1U19-R0

District: District 1 Counties: DIST/ST-WIDE, POLK Fed Aid No: N/A

Contract Time: 365 AVAILABLE DAYS

Project(s): 43272727201 (*)

Contract Desc: Shoulder Repair with Sod in Polk County

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	MIDWESTERN CONSTRUCTION, INC	Responsive	Winning bid	\$196,919.40	100.00%
2	TURTLE INFRASTRUCTURE PARTNERS, LLC	Responsive	Non-Winning Bid	\$198,865.84	100.99%
3	MERRELL'S GRADE-ALL, INC.	Responsive	Non-Winning Bid	\$211,121.40	107.21%
4	ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	Responsive	Non-Winning Bid	\$221,025.68	112.24%
5	T & M LAWN-FENCE SERVICE INC	Responsive	Non-Winning Bid	\$296,504.00	150.57%
6	AF USA CONSTRUCTION CORP	Responsive	Non-Winning Bid	\$369,498.88	187.64%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





Tabulation of Bids

Page 1 of 3

Letting: 01210121 January 21, 2021 **Call Order:** 001 **Contract:** E1U19-R0

District: District 1 Counties: DIST/ST-WIDE, POLK Fed Aid No: N/A

Contract Time: 365 AVAILABLE DAYS

Project(s): 43272727201 (*)

Contract Descr: Shoulder Repair with Sod in Polk County

The work under this Contract consists of Shoulder Repair with Sod in Polk County.

Line No / Item ID Alternate Item Description	Quantity Units	(1) MIDWE CONSTRUC		(2) TUF	UCTURE	• •	S GRADE-ALL,
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	PARTNER Unit Price	RS, LLC Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (REPAIRING NON-PAVED SHLDRS (MANUAL) (SY							
0005 0570 1 2 PERFORMANCE TURF, SOD	47,844.000 SY	2.35000	112,433.40	2.81000	134,441.64	2.35000	112,433.40
0010 E575 2 SOIL LAYER MATERIAL- IMPORTED MATERIAL	100.000 CY	100.00000	10,000.00	18.75000	1,875.00	30.00000	3,000.00
0015 E577 70 SHOULDER REWORK	47,524.000 SY	1.50000	71,286.00	1.30000	61,781.20	2.00000	95,048.00
0020 E577 70 1 REWORKING SHOULDERS (SPOT REPAIRS)	320.000 SY	10.00000	3,200.00	2.40000	768.00	2.00000	640.00
0001 REPAIRING NON-PAVED Sec SHLDRS (MANUAL) (SY)	ction Totals:		\$196,919.40		\$198,865.84		\$211,121.40

Contract Grand Totals:	\$196,919.40	\$198,865.84	211,121.40





Tabulation of Bids

Page 2 of 3

Letting	g: 012	10121 ე	January 21, 20	21 Ca l	II Order: 001		Contract:	E1U19-R0	
	No / Item ID Description	Alternate	Quantity Units	(4) ROGAR MANAGEMENT & CONSULTING OF FLORIDA		(5) T & M LAWN-FENCE SERVICE INC		(6) AF USA CONSTRUCTION CORP	
	licates item is bid a	s Lump Sum		Unit Price	.C Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001 (REPAIRING NON-PAVED SHLDRS (MANUAL) (SY								
0005 PERFOR	0570 1 2 RMANCE TURF,	SOD	47,844.000 SY	3.39000	162,191.16	3.00000	143,532.00	5.27000	252,137.88
0010 SOIL LA MATERI	E575 2 YER MATERIAL IAL	- IMPORTED	100.000 CY	0.01000	1.00	40.00000	4,000.00	84.58000	8,458.00
0015 SHOULI	E577 70 DER REWORK		47,524.000 SY	1.18000	56,078.32	3.00000	142,572.00	2.15000	102,176.60
0020	E577 70 1		320.000	8.61000	2,755.20	20.00000	6,400.00	21.02000	6,726.40
REWOR REPAIR	KING SHOULDE S)	ERS (SPOT	SY						
0001 REPAIRING NON-PAVED Section Totals: \$221,025.68 \$296,504.00 \$369,498.88 SHLDRS (MANUAL) (SY)							\$369,498.88		
	•	Contract Gra	and Totals:		\$221,025.68		\$296,504.00		369,498.88



01/21/2021

Tabulation of Bids

Page 3 of 3

Letting: 01210121

January 21, 2021

Call Order: 001

Contract:

E1U19-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.